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SECTION - A |

i) General Awareness

Total gold medal bagged by India in the
recently held ASIAD 2018 is

(A) 14 (B) 15
(C) 16 (D) 17

World Development Report is issued by
(A) IMF (B) World Bank
(C) WHO (D) UNDP

Ranapratab Sagar Hydroelectric Plant is in
(A) Uttarakhand

(B) Himachal Pradesh

(C) Rajasthan

(D) Punjab

Read the following statements
1. During 1951 India’s literacy was 18%.
2. 2011 census female literacy is 65.46.

3. 2018 — 19 budget allocation for
education is nearly 3.5% of GDP.

Select the right answer.

(A) Only 3 (B) 1and?2

(C) Allthe above (D) 2 only

Match List — I with List — Il and select

the correct answer using the code given
below the Lists.

Minerals Mine
1. Zinc — a. Amjhore
2. Gold — b. Sukinda
3. Chromite — ¢. Zawar
4. Pyrite — d. Hutti
Select the correct answer :
(A) 1-a 2-b 4-c¢c 3-d
B) 3-a 2-b 4-c 1-d
(C) 3-a 4-b 2-c¢c 1-d
(D) 1-a 4-b 2-c¢c 3-d

Which of the following is not a quantitative
tool of money supply used by the RBI ?
(A) Bank rate

(B) Repo rate

(C) Open market operation

(D) Margin requirement

7

10.

As per Census 2011, which one of the

following is the correct descending order

of States in India is respect of sex ratio

[female per thousand of males] ?

(A) West Bengal>Madhya Pradesh>
Uttarakhand > Jammu and
Kashmir

(B) Madhya Pradesh > West
Bengal > Jammu and Kashmir >
Uttarakhand

(C) Uttarakhand > West Bengal >
Madhya Pradesh > Jammu and
Kashmir

(D) WestBengal > Uttarakhand> Madhya
Pradesh > Jammu and Kashmir

Which of the following is/are example/s
for money ?
1. Currency notes and coins
2. Savings account deposits
3. Time deposits
4. Current account deposits
Select the right answer.
(A) Only 1 (B) 2,3and4
(C) Allthe above (D) 1,2and4

‘SAMPRITI — 2017’ is a joint military
exercise between armed forces of India
and

(A) Bhutan
(C) Pakistan

(B) Bangladesh
(D) Myanmar

Which of the following statements is true
regarding alluvial soils ?
1. ltis rich in nitrogen.
2. Not ideal for sugarcane cultivation.
3. Alluvial tracks are intensively
cultivated and densely populated in
India.
Select the correct answer.
(A) Only 1
(B) Only 2
(C) Only3
(D) All the above
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B) 3-a 2-b 4-c¢ 1-d £ WWG‘TWW' _
€l 5ta debl Poe 1=d 3. QT &1 WA H i o Sl
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11.

12,

13.

14.

15.

Infrared, visible and ultraviolet radiations/
light have different properties. Which
one of the following statements related
to these radiations/light is not correct ?
(A) The wavelength of infrared is more
than that of ultraviolet radiation.
(B) The wavelength of ultraviolet is
smaller than that of visible light.
(C) The photon energy of visible light
is more than that of infrared light.
(D) The photon energy of ultraviolet is
lesser than that of visible light.

Which of the following is incorrect of
their formulation ?

(A) Wildlife Conservation Act — 1972
(B) Project Tiger — 1973

(C) Project Elephant — 1992

(D) Environment Protection Act— 1984

When the sun is near the horizon during
the morning or evening, it appears
reddish. The phenomenon that is
responsible for this observation is

(A) reflection of light

(B) refraction of light

(C) dispersion of light

(D) scattering of light

Atal Bihari Vajapayee, had been a Prime
Minister for

(A) One time
(C) Three times

Find incorrect statement(s) about light
and optics.

1. Due to reflection of light, the sun
is visible a little before the actual
sunrise and until a little after the
actual sunset due to refraction of
light through the atmosphere.

2. Mirages are creates by total internal
reflection of light between layers of
hot air.

3. Anobserver can see arainbow only
when the sun is at 90 degrees to

(B) Two times
(D) Four times

his shoulder.
Codes:
(A) Only1and2 (B) Only2and3
(C) Only 2 (D) 1tand3

-4-
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16.

{7

18.

19:

20.

Consider the following statements about
pulses cultivation
1. Need less moisture.
2. Can survive in dry condition.
3. India exports pulses more than its
import.
Select the correct answer.
(A) Only 1
(B) Only 3
(C) tand 2
(D) 1and3

Sound waves cannot travel through a
(A) Copper wire placed in air

(B) Silver slab placed in air
(C) Glass prism placed in water
(D) Wooden hollow pipe loaded in a

vacuum

Which one of the following places in
India receives the lowest rainfall ?

(A) Ran of Kuchch

(B) Vidharba region

(C) Ladakh

(D) Jaisalmar

Ultrasonic waves are produced by
making use of

(A) ferromagnetic material

(B) ferrimagnetic material
(C) piezoelectric material
(D) pyroelectrical material

Guijjars, a pastoral community, are
associated with which one of the
following States of India ?

(A) Gujarat

(B) Rajasthan

(C) Jammu and Kashmir

(D) Sikkim
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13.

14.

15.
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Taae !
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20.
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(D) fufesm
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i) General Intelligence and Reasoning Ability

21. While going towards the East, Tilak
reached a crossing. He wants to go to
University. The road opposite to him
leads towards a market, the road left to
him leads towards a community park. In
which direction is the University ?

(A) East (B) West
(C) North (D) South

22. A, B and C are three mountaineers.
A is B's brother. B is C’s brother. C is not
A's brother. Therefore C is A’s sister.

(A) False
(B) Probably false
(C) True

(D) Can't say

(23 — 27) : Read the following information and
answer the questions.

The director of the institute has announced
that six guest lectures on different areas like
Leadership, Decision Making, Quality Circles,
Motivation, Assessment Centre and Group
Discussion are to be organised once on each
day from Monday to Sunday.

Motivation should be organised immediately
after Assessment Centre. Quality circle should
be organised on Wednesday and should not
be followed by Group Discussion. Decision
making should be organised on Friday and
there should be a gap of two days between
leadership and Group Discussion. One day
there will be no lecture (Saturday is not that
day), just before that day Group Discussion
will be organised.

23. Which of the two lectures were organised
on first and last day ?

(A) Quality Circle and Motivation
(B) Leadership and Assessment Centre

(C) Group Discussion and Quality
Circle

(D) None of these

24. Which day will the lecture on Leadership
be held ?

(A) Tuesday

(B) Friday

(C) Wednesday
(D) None of these

25. How many lectures are organised
between Motivation and Quality Circle ?

(A) 1 (B) 2
C) 3 (D) 4

26. When is lecture on motivation held ?
(A) Sunday (B) Monday
(C) Tuesday (D) Wednesday

27. On which day there is no lecture ?
(A) Tuesday (B) Friday
(C) Wednesday (D) None of these

28. Statements :

I. | surf internet only when | am
bored.

Il. | am never bored when | have my
friend’s company.

IIl. Whenever | go for holiday, | take
my friends along.

Choose the conclusion which logically
follows the statements.

(A) If | am bored, | surf internet.

(B) If | am not bored, | do not surf
internet.

(C) If I am not with my friend, | surf
internet.

(D) If I am bored, | go for holiday.
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25. wﬁ:ﬁ#ﬁﬂmﬁ&d% e RERERCIC IR
ﬁ%ﬂ@mﬁwﬂ
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29.

30.

Statement : Incessant rain for the past
several days has posed the problem of
overflowing and flood as the river bed
is full of silt and mud.

Courses of action :

|. The people residing near the river
should be shifted to safe place.

Il. The people should be made aware
about the danger through media.

lll. The silt and mud from the river bed
should be cleared from the river
bed immediately after receding of
the water level.

Which of the following follows ?
(A) Only | and Il follows

(B) Only Il and llI follows

(C) None follows

(D) All follows

Statement : Should school education
be made free ?

Arguments :
l. Yes, thisis the only way to improve
the level of literacy.
Il. No, it will be a burden to the
exchequer.

Which of the following is a strong
argument ?

(A) Only lis strong

(B) Only Il is strong

(C) Either | or Il is strong

(D) Both | and Il are strong

000 0 0 0O

31.

32.

33.

Statement : “If you want to study
management, join institute X" — A’s
advice to B.
Assumptions :
|. B listens to A’'s advice.
Il. Institute ‘X’ provides good
management education.

Which of the following assumptions are
implicit ?
(A) Only | is implicit

(B) Either | or Il is implicit
(C) Neither | nor Il is implicit
(D) Both | and Il are implicit
Statement :

Some hens are cows.
All cows are horses.
Conclusions :
|. Some horses are hens.
II. All hens are horses.
Which of the following definitely follows ?
(A) Only | follows
(B) Only |l follows
(C) Either | or Il follows
(D) Neither | nor |l follows

If BOMBAY is written as MYMYMY, how
will TAMILNADU be written in that code ?

(A) ALDALDALD
(B) MNUMNUMNU
(C) TIATIATIA
(D) IATIATIAT
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31.

32.

33.
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(A) ALDALDALD

(B) MNUMNUMNU

(C) TIATIATIA
(D) IATIATIAT
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34.

35.

36.

37.

When the paper below marked with
letters and numbers are folded, what
will be opposite to 0 ?

L
N|M]| 2
110
(A) L (B) M
(C) N (D) 2

Find the missing letters in the pattern
__ccec__c__dc__d

(A) cccdeddd
(B) ddddcccc
(C) cdcdcded
(D) ccedeced

A certain number of horses and an equal
number of men are going somewhere.
Half of the owners are on their horses
back while the remaining are walking
along leading their horses. If the number
of legs walking on the ground is 70, how
many horses are there ?

(A) 10

(B) 12

(C) 14

(D) 16

Pick the wrong number in the sequence
36,20, 12, 8, 6, 5.5, 4.5

(A) 5.5 B) 6
(C) 8 (D) 20

OO0 0T 00O OOt

38.

39.

40.

How many words are listed in the 1280
page dictionary ?
Statements :
|. Page 387 lists 200 words.
Il. There are 2000 words listed
under ‘A’
(A) Question can be answered by one

of the statements alone but not by
the other.

(B) Question can be answered by
either statement alone.

(C) Question can be answered by using
both the statements together.

(D) Question cannot be answered by
either of the statements.

Complete the analogy, Ocean : Water ; :
Glacier : ?

(A) Mountain
(B) Snow
(C) Cave
(D) Field

Complete the matrix :

12 15 21

8 7 26

?2 | 41 | 34

(A) 41
(B) 60
(C) 47
(D) 51
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35.

36.

37.

S7el) 3R TEet | R St & Sia

HreT ST 8 a1 0 o fooia == R ¢
L
N | M| 2
1 0

(A) L (B) M
(C) N (D) 2
Y24 __cccc__c__dc__dH I R
|
(A) ccededdd
(B) ddddccce
(C) cdcdcdcd
(D) ccedeeced
HE1 I Teh TEAT 3 S T&AT H 3TTEH]
F21 51 R B 3 il A9 =gl Fi ¥is
R D B TR IEh 379 =Sl % I 9 ©

| gz sreie o =er arefl et 70 2 1 foha
R !

(A) 10
(B) 12
(C) 14
(

16

—

C)
D)

%A 36, 20, 12, 8, 6, 5.5, 4.5 T TTeTd G&A1

I |
(A) 55 B) 6
(C) 8 (D) 20

S

38.

39.

40.
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1280 Y31 o TTeaehivl H fohe 78 gl &g,

2 7

U

. T 387 H 200 ¥158 FEEE B &

Il A% 3frld 2000 I8 TS &l

(A) W3 I I Teh A GRI 3Thel fean
ST Fehdl 21 T g g

(B) W9 %1 TR g1 A & fopell ot e
ZI 31t ez ST Hehdl 2|

(C) T3 1 I SHT HAHT I Th-H1
T <k e ST Fehkdl Bl

(D) Toret ofi =52 B YA %1 I T fe
ST Eehl |

FEETAT O o, HETETR ; ST o AR : 7
(A) TETEl
(B) &%

(C) THI

(D) &d
TR 01 L |
12 | 15
8 7
? 41

21
26

34
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41.

42.

43.

44,

45.

D0 0 0 O A

iii) Arithmetical and Numerical Ability

Which of the following is not a rational
number ?

(A) 2
) 0

What quantity must be added to each
term of the ratio 8 : 15 so that it becomes
equalto3:57

(A) 3
(C) 2.5

(B) 4

(D) none of these

If the surface area of a sphere is 2464 cm?,
then its volume is

(A) 10276ncm3

(B) 1020°ncm3

5
©) %ncm

(D) None of these

If x2 + By2 = 5xy then 3:
(A) 20r3
(B) 2o0r4
(C) 10or3
(D) none of these

The perimeter of a semi-circular plate

of diameter 14 cm is
(A) 22cm (B) 30cm

(C) 36cm (D) 40 cm

-12-

46.

47.

48.

49.

50.

5i.

9%
Value of [Z] is
(A) 27/ ® %
() 24 (e

The sum of the ages of a father and
his son is 45 years. Five years ago, the
product of their ages (in years) was 124.
Their present ages are

(A) 36,9 (B) 40,5

(€) 24:15.5 (D) 35,10

The largest integer which divides 105
and 315 is

(A) 315 (B) 15
(C) 105 (D) 5

Ms. Sonika invested Rs. 6,000 for 3 years
and received Rs. 1,080 as interest.

Then, the rate of simple interest is
(A) 7% (B) 8.5%
(C) 6% (D) 10%

A train runs at a speed of 28 kmph for
4 hours and at 30 kmph for 5 hours and
the remaining 48 kms in 1 hour. What
is the average speed in kmph ?

(A) 30.2 (B) 40

(C) 30 (D) none of these

In what time will Rs. 4,000 at 3% simple
interest produce the same income
as Rs. 5,000 in 5 years at 4% simple
interest 7

(A) 8years
(C) 8.38years

(B) 9years
(D) 10 years
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41.

42.

43.

44.

45.

fferiad = & -t uftha der 7 2 ?

®) -%

(D) =

(A) 2
) 0

I 8 : 15 & Ui U § 541 Siel ST
fhae 3: 58w ?

(A) 3
(C) 25

(B) 4

(D) 38 & IS T
Ife T Tt o1 Ut &Twet 2464 T4 2
2, 1 SHHT 3T 2

(A) ‘027% 3103

(B) 10000;::?[}?[_3

3
10°
—3—7'[ é.rﬁ.
(D) &0 & 1S &

X
afe x2 + 6y = 5xy dl V=

(C)

(A) 27913
(B) 2a14
(C) 1713

(D) TH A s T

=8 14 8.5, 1 U refaeinr qvad
i 8

(A) 227 4.
(C) 36T,

(B) 309.H.
(D) 403 ..

13

46.

47.

48.

49.

50.

il
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4

(A) 2.

[EJ%WW%

® 3%

(C) 24 @)
e fTelT ST 3%k G5 T 377 31 3N 45 99 2 |

gt 3 O, AT AR (s #) = e
124 91 | 76T FeHH 317 8

(A) 36,9 (B) 40,5

(C) 24,155 (D) 35,10

2 STETTH QUTIeR ST 105 37 315 i farsfera
AT B

(A) 315 (B) 15

(C) 105 (D) 5

geft |ifiem 9 3 991 & foru 5. 6,000 F1
Tt e 37t =991 & ®9 H 1,080 %, U
Tohm, 1 TTETOT TSt ) o R off 7

(A) 7% (B) 8.5%

(C) 6% (D) 10%

T et 28 foht. ufa wer & nfg @
4 g g, TR 30 fop 1. wf s e &
5 H1¢ ST o<l U 48 foh.#f1. Ifer wier ot f
o 1 T et @ | T ufd ger d ofmg
g e ?
(A) 30.2
(C) 30

(B) 40
(D) 7H I3 &l

%. 4,000 3% IR AN W fohad @899
T 31 31 Iedrfed S R . 5,000
5 AN § 4% G SIS0 T HG] 7

(A) 8ay (B) 9=d

(C) 8.33a% (D) 10a%
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52.

53.

54.

55,

56.

Divide 36 into two parts, such that the
sum of the reciprocals is %3 ;

(A) 25, 11
(C) 10, 16

(B) 24,12
(D) 14,22

Compound interest on Rs. 18,000 in
2 years at 15% per annum interest is

(in rupees)
(A) 5,000 (B) 5,805
(C) 4,500 (D) None of these

When 40% of a number is added to 42,
the result is the number itself. Then, the

number is
(A) 50 (B) 60
(C) 70 (D) none of these

Two men X and Y start from a common
point. X walks at 5 km per hour and
Y walks at 4 km per hour. How many
kilometers will they be apart after 3 hours

if they walk in opposite directions ?

(A) 3 kms
(C) 27 kms

(B) 9 kms

(D) None of these

What percent is 7 paise of Rs. 75 7

(A) 28/ (B) g

.
(C) /75 (D) none of these

N0 000 00 R

57

58.

58.

60.

A sum of Rs. 41 was divided among
boys and girls. Each boy gets 90 paise
and each girl gets 65 paise. If there are
altogether 50 children, find the number
of boys (B) and girls (G).

(A) B=34,G=16

(B) B=16, G=34

(C) B =25, G=25

(D) B=30,G=20

The selling price of an article is Rs. 3,680
and profit percentage is 15%. The cost
price of the article is

(A) Rs. 2,200 (B) Rs. 3,200

(C) Rs. 3,000 (D) Rs. 4,000

The average of 49 items is 24 . If one
more item is added to them, then the
average becomes 24.5. Then, the value
of the 50" item is
(A) 50
(C) 49

(B) 25
(D) None of these

In a class of 50 students, 15 do not
participate in any games and the rest
play atleast one of two games Hockey
or Kabaddi. 25 play Hockey and 20 play
Kabaddi. Find the number of students

who play both.
(A) 45 (B) 10
(C) 15 (D) 80
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52,

53.

54.

55,

56.

36 %1 31 9T 1 39 FRR A1 foh Goshd
i Y w

(A) 25, 11 (B) 24,12

(C) 10,16 (D) 14,22

% 18000 H 298 # 15% ufd 98 W

Tehgfa ST 8 (T91 1)
(A) 5,000 (B) 5,805
(C) 4,500 (D) A8 U 1S L

el Ueh EEAT Sl 40 % 42 H SISl Sl ¢,
I afoT =% e T Bl 2, o 9 8

(A) 50 (B) 60
(C) 70 (D) ¥ € I3 48
2l =fR X R Y U 3vafe fog 8 3%

FA e | X5 p M. 9fd ger W aem@r g 3R
Y 4. ufd gg wadar 2 | 9 =
R o Toh foral Hiet g & afe o fomia
fesmedi & =erd 2 °
(A) 3.
(C) 27 f&.H.

(B) 9 ..
(D) TH ¥ IS el

799 75 %, & T gfaga @ 7

1)
© Yhs

B) o

(D) 3 ° HIS

-15-

7.

58.

5.

60.
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%, 41 1 UF U TeF AR TSfRAl d
fafora <t 1 B | U STk ST 90 T
3R Uish Beehl i 65 U8 ierd € | Afg
50 sed @ d1 digeh (B) 3TN eisfral (G) &t
reisiciead

(A) B=34,G=16
(B) B=16,G =34
(C) B=25G=25
(D) B=30,G =20

U g ol I Oe %, 3,680 & TR A
TR 15% B | 9% 1 569 43 B

(A) %. 2,200
(C) %. 3,000

(B) ®.3,200
(D) %. 4,000

49 Ha! w1 376 24 2 | Ff2 T U 3R
e e fear st &, 1 37ud 24.5 B S
2 | 1 50 Ha 1 qe

(B) 25

(D) ¥TH | HFRE T

(A) 50
(C) 49

50 faenfelt <t e e A, 15 fordt W
o T @ 3R aeh! BT A1 Fet gFl
T ¥ 59 ¥ FH T Teld 8 | 25 Bihl Terd
2, 20 FEl Werd & | 37 frenfefa < v

A S 2 @ Td © |
(A) 45 (B) 10
(C) 15 (D) 30
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62.

63.

64.

B5.
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iv) Hindi Language and Comprehension

Fig AT = ‘FfE’ I8 HH-a1 g9
27

(A) HHIRT §OE (B) g5 99

(C) Ir=TAvTE (D) wgshfe wqE

‘] 4 HY B AN T AT H HH
W%

(A) HH, T
(C) =i, &

(B) <UI, WIEH
(D) HeiY,

g1efi ST & I8 1 SEIe H Bl
(A) gTefin 3t 8 (B) ERft 3T @
(C) ®efid At 8 (D) TTY A B

et v e =
STTgeht ferfay | 66.
(&) (=)

1. 25 . IFSEH
2. 78 A1, Y=g
3. 38 3. 3=
4. 54 3. arsd™ 67.
5. 29 3. =lad
(A) 1-3m 2-31 3-3 4-3 5-%
(B) 1-31 2-% 3-37 4-3 5-3%
(C) 1-3 2-3 3-3 4-31 5-%
(D) 1-3 2-37 3-3F 4-3 5-3 | 68.
T + 39 = @Y T IHA-H A ?
(A) suom Efar (B) fawet |fy
(©) TEl (D) I Y -
frefafas qeed =t ot a9t & a1
Sijced

(e7) (=)
1, T-qHA R 1. W A TS
2. UBIg A 31, Tl IS
3. TS =HAT 3. ST I
4. faeeftzgrm 3. =ToeE
(A) 1-3 2-3% B8-31 4-%
B) 1-3 2-3 3-F 4-3T
(C) 1=8 2-31 3-3 4-3H
(D) 1-3F 2-§% B3-31T 4-%
fFefeifaa § @ “stermr’ vise @ uataaTEh 0

(A) -4 (B) ==
(C) 3 (D) 3rafe
woadl e 2

(A) |ETH (B) fersmmr
(C) Sy (D) =

-16-

frefoiiaa wsal @l 3T et & a1y
St

(21) ()
1. gmeft 31, FHRRAT 2
2. Hewh AT G- T B
3. S 3. WA e
4, ®iT %, ferear
(A) 1-8 2-% 3-3 4-3HA
(B) 1—-3m 2-31 3-§ 4-%
(C) 1—A 2-% B3=% 4=31
D) 1-3 2-%F 3-3A 4-30
‘o =t g SR’ g9 9Te H W

Bl

(A) Temmo
(B) =AfEqar=sh G
(C) WTeET=eh T3
(D) H Hh
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71.

7%

73.

74.

75.

frferftaa 21’ 9 % wedl @l ‘@ AT H
y52] ¥ S|
()

e = Tl
TH 928 W 9|
| 3 T 9gT|
29 9 9 93|

‘T il Tl & T e W SR H
(A) TRER T | T

(B) T F Tira el e

(C) Tt T Tt et

(A)
(B)
(C)
(D)

(D) T T T
faem greei =i Sigemt fafag
(=7) (=)
1. 383 3. AR
2, JeaH 1, I
3. &l 3. <
4. AT 3. T
5. @Y 3. U
(A) 1-31 2%  3-3 4 5-3
(B) 13  2-3 33N 4% 5-3
(C) 18 2§ 330 43 5-F
(D) 1-3 23 33 4-3A 5-3
‘T TR H g R 7
(A) T (B) 3
(C) (D) T9TE

«17=

76.

T

78.

79,

80.
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(A) e, T, S
(B) YT, IR, IR

(C) e, g, T
(D) i, i, <&l

‘a1’ W o YTel bl ‘W WHI o STsal o A1

(37) =)
1. e o S & q9 qeh . HIEde
2. i $vat I A HH . g
3. S 99 S THAT &l 3. IATSiEA
4. 5 foreft s <Y ST
£ =18l 3. Tay
(Ay 1—31 2-% B-3 4-%§
B) 1-31 2-3% 3-3T 4-3%
(C) 1-3 2-3A 3-3 4-231
By = 53l 3-3] 4-73

ST et St T TRt | {2
(A) Shiel (B) HISI
(C) Sid (D) T

“oper | ARSI T | SH A H STl
FE 7

(A) feremanfe sigsh

(B) fermrem

(C) fsman farsmmn

(D) HEH
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v) English Language and Comprehension

ST W st Ay

Add suitable question tags.

81. | needn’t get up early tomorrow
?

(A) need|
(B) dol

(C) don'tl
(D) should |

82. Have some more rice, ?
(A) doyou
(B) don’t you
(C) will you
(D) can'tyou

Pick out the word that is most nearly the same

in meaning as the words in capitals.

83. VICARIOUSLY
(A) loudly
(B) daringly
(C) with deliberation
(D) by substitute

84. REPEAL
(A) topayback (B) undress
(C) say again (D) withdrew

Complete the following sentence using correct

options.

86. As soon as the speech started,

(A) then the demonstrators rushed to
the platform.

(B) when the demonstrators rushed to
the platform.

(C) the demonstrators rushed to the
platform.

(D) than the demonstrators rushed to
the platform.

Select the antonym of the given word.

87. EVOCATIVE
~ (A) eventful
(B) callous
(C) evoke

(D) charitable

88. ACCEDE
(A) demur
(B) proceed
(C) acquiesce
(D) recede

Fill in the blanks with correct idiom.

89. If you see a bull in the pasture,
(A) make yourself abundant
(B) make yourself invisible

(C) make yourself seen
85. The gem is too small (D) make yourself scarce
A) thatitcan’t be seen with the naked ,
) eyes:. 90. Thatwas a the bus nearly hit
o the cyclist.
(B) to be seen with the naked eyes. (A) close catch
(C) for seeing it with naked eyes. (B) far call
(D) that nobody could see it with naked (C) close signal
eyes. (D) close call
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Fill in the blanks with suitable preposition.

91. Ishallbe glad your co-operation
in this matter.
(A) of
(B) for
(C) with
(D) at
92. Don't hanker wealth
and position.
(A) in
(B) after
(C) for
(D) by
93. He dwelt at some length the
problem of student unrest.
(A) in
(B) for
(C) on
(D) through
Select the sentence which is grammatically
wrong.
94. (A) Nobody known it better than me.
(B) You may do as you please.
(C) |am so deaf that | cannot hear the
thunder.
(D) He is older than he looks.
95. (A) Each of these substance is found
in India.
(B) Either you or he is mistaken.
(C) Many a man does not know his own
good deeds.
(D) Sanskrit, as well as Arabic, was
taught there.
*
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96.

9%

98.

99.

100.
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Change the following sentences to
affirmative.

Ram is not so foolish as you think.
(A) Ram is a wise person.

(B) Ram is not very wise.

(C) Ram is wiser than you think.
(D) Ram is not wiser as you think.

| don’t possess anything else.
(A)
(B)
(€)

This is all | possess.
My possession is not much.

My possession are not better than
others.

(D) None of the above .

Use the correct verb and fill in the blanks.

The clock has five.
(A) strike

(B) struck

(C) stricken

(D) stroke

They have the sheep.
(A) sheared

(B) shorn

(C) shear

(D) shearn

Christ his crucifiers.
(A) forgive
(B) forgave
(C) forgot

(D) forgiven
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SECTION - B
-4
Post Specific Subject-Related Questions

URe Tuftrfoees e - deef uoa

101.  Tuqereee guaHifgeremed foy ? 106. “TH:- TEOT, “Fe: - 1Y
(A) ot B) T e | |
(C) fomt: (D) forad: (A) HafoTH, (B) @&

| (C) W& (D) w=iEmH,
102. #iaveesa wgefffayed! ha=ed fF

sy ? 107. qy fewmele: omg: =: ?
(A) 77 (B) HeA-TC: (A) = (B) 31
(C) "e-wad (D) We-T: (C) 3% (D) ®1
103, HIRTee HfEH foruferssl Tharered ¥ | 10g, HTl: TSR NEENsgaeTEy fh
w7 afi 7
(A) gerHT—=geff (A) HA9ad (B) wad
(B) ==t ©) ¥ ©) Wi
(C) =rgeff~Ts=mt
(D) ge=ft-wedt 109. T $8 ¥ e TR wafy ?
(A) &g (B) fore

104. 9IS STSGE TETE LIS Ha!
ThaeHEY b syafd 7
(A) RWEF (B) B TR 110. Teqemt: cRemREemyeYEaTed fga|

(C) @i (D) &

(C) ® *TTaq (D) 2 wWE= (A) fRRrfy
105. udy =qy f5 aneey safa 7 (B) =frf
(A) B UfeH (B) = Ufyr (C) fafawa
(C) 2 vem: (D) 2 werT: (D) fefefa

%* ~20-
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111, o6 T = g&W: 3174 U syafq ?

(A) FH (B) dfs:

(C) Im&H (D) =4
12 Mﬁwﬁaw.m“ﬁwm“dmmumﬁ“ ?

(A) SSIMd: (B) Hd:

(C) Wh (D) wE:
118, shigefl faen Shacee gay 3fa werd ?

(A) gEH

(B) TTeR{Y

(C) Fefat

(D) TierRlt
114. higeft vl w17: wafd ?

(A) AFEnfeft  (B) ®uad

(C) Torrdt (D) srg=
115, THEYRY &l ; ¢

(A) 9rfa: (B) wayfd:

(C) wma: (D) HIAGTH;
116. TaRiET: TST: fhnef gyare: waf< o |

(A) gu™

(B) 31

(C) =«

(D) TIE

T,

118.

149,

120.

1211
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= fowifs: vanfiemsy an g gaema 7
(A) 3

(B) s

(C) w&ITea

(D) =l

T TRPT: TTHAT: H&hRT §9 HeAgaal
3 ?
(A) HAS:

(€) |

(B) fesfiu:
(D) TH:

%: HEHIHESE THH 3Te ?
(A) feefia: (B) TH:
(C) 3Ti; (D) T
By afe ?

(A) ITH

(B) et

(C) T
(D) T

YEAE: FE 3feeNT: ?

A ardis:

-21-

(B) =ardte:

(C) guetis:
(D) gl
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122.

123.

124.

125,

126.

127.

IfSHayaeaIy 1 guia wafd ?
(A) Ffs: (B) wfa:

(C) gfe: (D) fa:
RSO RIS SIcRH o ?
(A) ITEFHEH

(B) HFHeTH

(C) du:

(D) TEIRE:

ST ] 3% TRuTeard’ o1 41 ?
(A) T (B) <&
(C) =fa: (D) Hfed:
STR9T: STYNOMHAOSH: &: 7

(A) weHime:

(B) femme:

(C) ®9Hg:

(D) PaTHE;
sffed swfor o1 fasife: wafa ?

(A) SgHT

(C) qefram

(B) et

(D) =gt

“TITHT, AT 3T UTH: hIgel: FHRh:
o ?

(A) HhTEh:

(C) h{VIhIeh:

(B) HHHIH:
(D) IAUTEHHh:

A0 0O 000 Rl

128.

129.

130.

131.

132.
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I’ IET AN i TSI : ST IT68:
& !

(A) Term
(C) @q

(B) qen

(D) =

= 3f 7 i 1Y yg=a 7
(A) faFea:

(B) faums

(C) wg===:

(D) fafer:

Y3l QIR |l YaHEgaeTEd 6
Heaffd ?

(A) 9
(C) Ya-r:

(B) wad,
(D) UB=:

Tl ST FET IR ;AT
wafd ?

(A) =9
(C) <I2

(B) &q
(D) =9

T o 4 | Siftais 38 5=
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133.

134.

135.

136.

137.

138: -

o] T IEOTEh HauTieTeh] ers=ie” 3fd a1
gefd ?

(A) FrpwieT (B) et

(C) S (ORERE
I IS v 3o i shoer: Jufewtid ?
(A) TESH (B) HUHISH
(C) TH (D) HisH
el SAfogT fome ?

(A) ¥

(B) FEIH

(C) eTEArRY

(D) HiferTeRy,

SRRl T 372 Fhid SAlehT:
= gfema 7

(A) (B) =cdm:

(C) T (D) &

sa7e7t T s e e 3 & Fefd ?
(A) TTEE:

(B) gatEm:

(C) =va:

(D) T

AF=Iqead: JOTH: SHig: ¥ ?
(A) 3Tt (B) IE:

(c) =1 (D) ITNA:

1k

140.

141.

142.

143.

144,

o
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¥ o U < SfigreerTs] ferftdr: ¢
(A) T: (B) wI&HI:
(C) (D) <IN

o WG AT HEARAT T A T -
37 HEIEAT &1 ¢

(A) HEeT

(B) Rl

(C) gt
(D) ©iaT

AT, ATl AT T e 3h A
FUAT

(A) TR, (B) frmsiem

(C) wgred (D) @I
T['ﬂ%#)m e o & w=i” 3
Fafq ?

(A) THA:

(B) GUTHR:

(C) %:a?ﬁ-r?mr

(D) sd

“ Tt fae Shaih 3 e g T
e h: ¢

(A) Hid: (B) QE@E\F{%:

(C) okl (D) ¥A=:

7 + 2 3R GiUER a5 T 9aik ¢
(A) (B) 3

C) ¢ D) ¢
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192.

193.

194.

195.

“Nothing is more purifying on earth
than wisdom” ( f& JM7 Tgwi

ﬁ@'ﬁ). Where do you find definition of
Education ?

(A) Rigveda

(B) Upanishad

(C) Bhagavadgeeta
(D) Ramayana

Which is the apex body for curriculum
related matters for school education in
Inda ?

(A) UGC
(B) NCERT
(C) CBSC
(D) ICSCE

When was the Kendriya Vidyalaya
project started in India ?

(A) 1965
(B) 1956
(C) 1974
(D) 1983

Who is the chief exponent of the Theory
of Trail and Error ?

(A) Kohler

(B) B.F. Skinner
(C) Ivan Paviov
(D) E.L. Thorndike

Which of the following phases of teaching
includes ‘Selection of appropriate
methods of teaching’ ?

(A) Planning Phase
(B) Execution Phase
(C) Reflection Phase
(D) None of the above

000 0 0 0 X OO0 O

196.

197,

198.

199,

200.

Which of following principles of learning
states that ‘most recently learned are
the best remembered’ ?

(A) Principle of Primacy
(B) Principle of Intensity
(C) Principle of Requirement
(D) Principle of Recency

Which among these is not the Principle
of Content Selection ?

(A) Principle of Balance
(B) Principle of Significance
(C) Principle of Necessity
(D) Principle of Feasibility

Which among these is the branch of
Bio-Science ?

(A) Botany

(B) Chemistry

(C) Physics

(D) Geology

Which of the Indian State has adopted
Sanskrit as second State Language ?

(A) Uttarakhand
(B) Gujarat

(C) Karnataka
(D) Uttar Pradesh

Which among these is the method
of teaching prose (TEf¥T&rUTfafer:) in
Sanskrit ?

(A) Dandanvaya vidhi (USTafae:)
(B) Katha-kathana vidhi (sFermeremfafer:)
(C) Khandanvaya vidhi (@Ugragfafer:)

(D) Geeta-natya vidhi (fia=mestfate:)
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Tegd & fefefiad § @ S=-a1 fagia
eal © fop o1fere B1a € | st T
BHT G ¥ H I18 BT e ?

(A) Tfireran =1 g

(B) a1 fagd

(C) aifesa =1 fagrd

(D) wferan =t forgia

fafafed & & wH-ar gl g
fogma gz ?

(A) qe 1 i

(B) Tea =1 fagia

(C) TTavgshdl =1 fagid

(D) T < firgid

8 A S - Sta-fgm H ymar g ?
(A) UTeafes=
(B) THREITE
(C) shifdereme
(D) spefeTTE

WA o fohd 59 3 W&k o1 1o e
FEIY AR ?

(A) ITEE

(B) TSI

(C) ik

(D) 3TIY

T | PH-T1 G § TR 5en
fafa? ?

(A) STt

(B) HATHAAATY

(C) Gy

(D) TheArefafy
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12
13

14.

15:

. This booklet contains 32 pages.
. Please check all the pages of the Booklet

carefully. In case of any defect, please ask the
Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen against
the question concerned in the Answer-Sheet.
(For V.H. candidates corresponding circle
will be blackened by the scribe)

Mark your answer by shading the appropriate circle
against each guestion. The circle should
be shaded completely without leaving any

12.
13.

14,

15.

| ED 0 0 00O 00 0

39 gfEashl ° 32 U 2|

55 gfereht < |fl sl o ergee et | 3
18 2 2, a1 Friigs 1 38 wee & for R |
fEw : I U9H 31U WS UL HUT & 91g
IR I FUAT Teh HH G T B | eI g0
o aArqent feReft T T FAAT B S 99 BT HE I
2 31T HYF I W FHL IF IIHT ITL-TThT F
ST AR @H A, B, C 31 D 3! e 1 s
S -9Tg-e U | e (@) T & | (gfenfim
Frdteandl & fou wwa mersr fE@fts g
ST fehall ST

SO YR o HTHH 3Ed g ol R e AT
I o | T B oA R W B fasie = |

1 space. The correct method of shading is given
: below. feregiferr et a1 T e S fomm T 2 |
| Wrong Method || Wrong Methad || Wrong Method || Correct Method Teid atreRT Ted altenT || e aliemT aal il
| OR0QCIOLOOI0®OOI0CeO0 OR000OVOO0IC®OOI0OeO O
| The Candidate must mark his/her response ] 1 AT I FHEEE d" fomR *
| after careful consideration. I Tafza s =1tz |
| 16. There is only ane correct answer to each | 16. Ucdeh YA 1 had T &l T8l I ‘% | 3Rt
| question. You should blacken (®) the circle of Fqfad wiem 39fd A, B, C 91D & TMemsR
- the appropriate column, viz., A, B, C or D. If you T F Fen (@) T 2 sze; g fEe g
blacken (@) more than one circle againstany one - 5 :
question, the answer will be treated as wrong. < W T § AfEh ’i'f FR S T (@)
If you wish to cancel any answer, you should FTRT 3T TiAd | R | 3t 3 Rt s
completely erase that black mark in the circle in © HE1 =8 8 dl 379 m_gﬁqqam % 3G MR
the Answer-Sheet, and then blacken the circle 1 Y e e # ot e 3 frer & 3 ae set
of revised response. T % fore e w3 |
17. A machine will read the coded information in the 5‘3 5 -
OMR Answer-Sheet. In case the information is [ 17. 3T1.UH.3TR. T4 %1 H il T ge ek
incomplete/different from the information given U G wel | AfE AT 3190 & 3ET AHe
in the application form, the candidature of such o H & g g 8 = g, a1 uE arvgefi &
candidate will be treated as cancelled. srerfh P weh seeft |
18. Use the space for rough work given in the Question - S ~ s
Booklet only and not on the Answer-Sheet. 18, EFR&  for _ e o H f ’a;r
: TN L | ITHR-GETR 9 Fod1 1 A B
19. You are NOT required to mark your answers -
in this Booklet. All answers must be indicated | 19. 8 ‘1%1 & el AT 3T sAfwa T@
in the Answer-Sheet only. A ¢ | I heael IW-atEem 3 @ 3|
Go through instructions given in Page No. 1 (Facing Page)
%*
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